|

7////

N

DETAIL C =
SCALE1: 6 i
DETAIL B
SCALE1:5
11 4 PUSH NUT 1/4
10 2 SPACER 1/4 1D X 1/2 OD X 1/2
9 1 FLAT WASHER #10
8 1 HEX. WASHER BOLT #10 X 3/4
7 3 HEX. NUT 1/4NC
6 3 LOCK WASHER 1/4
5 1 TRUSS HEAD SCREW 1/4NC X 1
4 9 FLAT WASHER 1/4
3 1 L.H. SUPPORT FOR GRILL
2 1 R.H. SUPPORT FOR GRILL
1 1 FRONT GRILL
ITEM NO. |QTY. DESCRIPTION

TITLE:
GRILLE AVANT, INTERNATIONAL 9200 & 9400

FRONT GRILL, INTERNATIONAL 9200 & 9400

SIZE |DWG. NO. REV

REL

DETAIL D
SCALE1:4

SCALE: N.T.S. WEIGHT: LBS | SHEET: 2 OF 2




PROCEDURES D'INSTALLATION:
Etape 1- Enlever la grille du manufacturier en gardant les 4 écroux et rondelles.
Etape 2- Enlever tous les boulons (4x) du camion tel que indiqué (détail "A").

Etape 3- Installer les supports items #2 & 3 & l'intérieur du camion et poser les rondelles de
soutien (item #11) pour tenir en place les supports (4x).

Etape 4- Temporairement installer la nouvelle grille & sa place originale en la fixant avec les rondelles
et écroux (bien serrer).

Etape 5- Percer un trou de 1/4" dans le support du haut original du camion en vous servant comme
guide le trou de la grille (détail "C").

Etape 6- Puis enlever la grille et poser sur les tiges filetées en arriére de la grille les items #4 & 10
tel que indiqué sur le détail "B". et ré-installer la grille sur le camion (bien serrer).

Etape 7- Dé&s que vous avez terminé de fixer la grille sur le devant du camion ouvrer le capot du
camion et boulonner les deux extrémitées de la grille et le centre tel que indiqué sur les
détail "B" et "C" avec les items #4, 6 & 7 et bien serrer).

Etape 8- Maintenant pour le bas, utiliser une perceuse et visser la vis tel que indiqué sur le détail "D".

Etape 9- Maintenant que la grille est installé vous pouvez enlever le plastique protecteur.

INSTALLATION PROCEDURES:
Step 1- Remove factory grill while keeping the 4 washers and nuts.
Step 2- Remove all 4 threaded bolts that are on the truck ( detail "A").

Step 3- Install brackets items #2 & 3 inside the truck & place on the studs
the pushnuts (item # 11) to fix the brackets on the truck (4x).

Step 4- Install temporalily the grill at it's original position by fixing it with the original washers & nuts (tighten).

NM N
= oL
VA 2
7
—.
VA 2
— 7
Va— 2
7
VA ?
|
I
— —
7
\Nj

Step 5- Drill a 1/4" hole on the original top bracket of the truck by using as an template the hole of the grill (detail "C").

Step 6- Now remove the grill & position on the studs that are on the grill items # 4 & 10 as shown
on detail "B" & re-install the grill on the truck (tighten).

Step 7- When the grillis fixed on the front of the truck open hood of the fruck & bolt the two upper corners of the

grill as shown on detail "B" & "C" with items #4, 6 & 7 & tighten.

Step 8- Now with the lower part of the grill use an drill to fasten the screw to the frame of the truck as shown

on detail "D" with items #4, 8 & 9.

Step 9- Now that the grill is installed you can remove the protective plastic.

TITLE:

GRILLE AVANT, INTERNATIONAL 9200 & 9400
FRONT GRILL, INTERNATIONAL 9200 & 9400

SIZE

DWG. NO.

REL

SCALE: N.T.S.

WEIGHT: LBS

[ sHeeT: 1 OF 2



